SPECIFIC LEARNING DIFFICULTIES
UNIT 11



Activity 2 Answer Sheet


Pupil A is experiencing difficulties right at the most basic module, letter identification. This pupil is extremely inexperienced, and has not learned much about reading. The pupil has not acquired the alphabetic principle. The words that he does recognise are likely to be things like his name which he sees frequently, and recognition of these may well be dependent on context; for instance he might recognise his name on his coat peg or lunch box, but not when written by an adult.


Pupil B, despite his ability to recognise phonically regular words, is experiencing difficulties with letter sound conversion. We know this because he is struggling to decode non-words. Testing non-words effectively disables the lexical route since the words cannot be recognised by sight. The pupil is likely to have learned to recognise all the words he can read by visual means alone, using the lexical route. He is likely to have poor phonological awareness and phonic knowledge, and struggle with segmenting and blending. The alphabetic principle is not established.


Pupil C has an efficient non-lexical route and is able to decode regular words and non-words effectively. Further observation would probably reveal that he tries to sound out all the words he encounters, and may be unaware that some words are irregular and cannot be sounded out. 

